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Write all the chemical equations|a_ &L Y alaed! amtex ciSI

balanced including the conditions of

the reaction:
Answer the following questions:

1 - Choose to answer (a) or (b) :

cJelal do g ol )SD ae A4S e
z‘s'\.u““SN my‘&c%i

1() 31 () oo Al ¥1 sl - )

Write the scientific expressionindicated | e J'4! @elal! zlaaddt oS!

by the following sentence:
(a) The process of increasing the

13 )Lt

RE [P O WA R NI WOV ()

e LA Juad B o

percentage of iron in the ore by 5 piaal | st s Sl et dorbac (o)

separation the impurities from it.

(b) The process of collecting fine particles
of iron ores to obtain large particles
suitable for reduction process.

Lt Jguund ST Ol

2 - Choose to answer (a) or (b) :

Explain:

(a) Markowinkoff’s rule is not applied for
all alkenes when hydrogen bromide is
added to them.

(b) The colour of acidified potassium
permanganate does not disappear when
it is added to 2-methyl-2-propanol.

1(2) 91 (1) He Al i -
: uid
e 89S 198 Lo baeld G tati ¥ ()
g Ablis! wie OLLSIY pren
O 9ogl)
ol g Sliicn jo 093 Jo5 ¥ (<)
L gialinl e din g o
Jeiligm2-gie-2
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3 - Choose to answer (a) or (b) : () 91 (1) e Al W1 4T - ¥
Explain by chemical equation: A0kas Aaladdly g

(a) The reaction happened when charging Sl o e Sl J‘:—:: ®
o

the lead accumulator. o o B B S Je il ()
(b) The total equation of the cell of iron
rust.
4 - Find the salt name: el ! gl -

Salt solution forming white precipitate | =S Jot~e 28Lal e gle Jslns
with the addition of barium chloride|¥® #2% o' = O35 &l sl
solution, which dissolved in dilute| o2 enei st
o . . udd J9lons | padgadl Clisy,S Jslos
hydrochloric acid. And addition of sl sl sy 055 el
ammonium carbonate solution to the

original salt solution forming also white

precipitate.
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5 - In the balanced chemical reaction: 1O 5kel) Jelait 8 -0
PCls(g) < PClyg) + Clyg) ; AH = (+) PClyg = PClyg) - Clyg)s AH -
The dissociation of phosphorus doglS puels IOl Baln) (Sen
pentachloride can increase by: Chealialloplod

@ Decreasing temperature. Byl pod | Ay @
@ Decreasing pressure. ainll ez @
(© Increase the addition of chlorine. 28 e 3l L ()
@ Addition of a catalyst. Slas Jole 2aLis) @

6 - What happen and explain: ¢ ) 20 Crdny 130a -

If replaced the sodium sulphate solution |¢? psasal! SlorsS Jslms Judul 1]
in the salt bridge by barium chloride |#2%" % Jsine: ﬁw‘idw

.. . s s
solution in Daniel cell? Jhals dus 2

7 - Show by chemical equations : + A0 LS S s laally udg -V
How to obtain picric acid from chlorobenzene. | -0 52881 0 thSillpaes e Juasi S

4] YoM YoAV Jo¥1 5ol - A | rall Aol Wie
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8 - Write the IUPAC nomenclature: 1T 5 AUSD Gt (o5 Lo @uu¥ | IS -A

CH,-CH-CH, CH-CH,
® @ Br
CHC=C-CH-CH,

® |

CHACH,

9 - Youhaveapieceoftissue,howcanyouprove | c5 ca S (5Laal! e dalal Lt -4
experimentally the carbon and hydrogen | o= 2:-6!15 353,53 G rmaie O biles

elements are existed in its structure, Sledl ) uiS 3 (8 O3y
illustrate with chemical reactions. -40beeSI OWslaally gl e

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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10 - Choose to answer (a) or (b)

Write the scientific expression indicated

by the following sentence:

(a) The process aims to identify the constituent
elements of a substance and the percentage
of each element in it.

(b) The process to determine the
concentration of an acid solution by
knowing its volume which is required
to neutralize the base solution of
known volume and concentration.

() 91 (1) pe Al W1 i -1

ole JIdd Lelall allaael! LS

15 ylaat!

SR TR JULL [ [JE WL P NPV ()
JS dewiy Le dalet @igSatl yuoliall

dpaglaes (a8 )0 paudl Audes (o)
fucld po Jalall die p)OAYI @omont |
S g et A glan

11 - Explain :

1y =\

The lithium battery is more preferable to | %> o= porizldl &ls pladinl Jady

the mercury cell.

@5

YA/ YAV J oW1 59ddl - das i polt dAdialt Al
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12 - In the following reaction: PG Jalait B -\ Y
Nag) T205(g) = 2NOy Nag) 720 = 2NOy)
Calculate (Kp) value using the following | awestass detazns (Kp) aesd covin
partial pressure: A A o | Lo gical
[N, =0.4 atm, O,=2 atm , NO, =4 atm] | [N, =0.4atm <O, =2 atm «
NO, =4 atm]
13 - Show by chemical equations : + A0 LS S s laal Ly g -\ ¥

How to obtain iron (III) oxide from |o= (D) sustt seusi ol duaos s
siderite. o

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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14 - Explain : s ywid -\ €
Manganese compounds are used as a | -4sdia> delssS jrirdall LS po pasind
strong catalyst.

15 - Explain : ' i -\ 0

Not possible to distinguish between |#sse¥! Sloul Jslos (o sl (Soa ¥
WY1 plasiuly pyagall wayslS Jslaag
Aile!

ammonium acetate and sodium chloride
solutions using the chemical indicators.

B YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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16 - Choose to answer (a) or (b) : () 91 (1) pe Al ¥ i -\ 1
Show by chemical equations, how to | <=5 4=fbes! C¥aladly a2y
obtain: Ola S (o Ol geg @ﬁm
(a) 1,2-Dibromoethane from ethyl o m Jj):%” d_"d;y.

hydrogen sulphate. O (pe O 9 535 s ()
(b) meta-Chloro nitrobenzene from
benzene.

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead 9|
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17 - A mixture of calcium carbonate and A gmiut LS SS9y S (0 dai s -\ Y
sodium sulphate, its mass is 1.5 g, P> 1.5 “1-"“;"‘ ?319-’{“‘" SRS
neutralized with 15 ml of 0.8 M oaex o 1D ML A4S glaet a3t
hydrochloric acid. Calculate the carbonate Al b Ol ySH Zorah
percentage in the sample. [Ca=40,C=12,0=16]

[Ca=40,C=12,0=16]
18 - Show by chemical equations P AO LeaST O alaally g -V A

How to obtain iron (III) chloride from oo (1) oot 918 e s s
iron (II) sulphate. fUD s ais s

i YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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19 - Choose to answer (a) or (b) :

Write the scientific expression

indicated the following sentence:

(a) Apparently a stationary system but in
reality dynamic.

(b) At constant temperature, the
rate of a chemical reaction is
directly proportional to the result
of multiplication of the reactant
concentrations.

1(2) 91 (1) He Al ¥ 55 - 14

e JIudt melal! mllaaedd| IS

13 )Lt

Grell Gguel! e Sl alas (1)
Pl e Gguall Sl Salinng

AL i el 35 pomd | A 53 D95 e ()
S o Juol> ps Lia o Jelad!
e Laiat

20 - Choose to answer (a) or (b) :
Show by chemical equation:
(a) Friedel Craft’s reaction
(b) Baeyr’s reaction

() 91 (1) He Al ¥ pu5 - Y
140k SI Walaetb sy
A8 Ju 2 Jelas (1)
b delas (9)

YA/ YAV J oW1 59t - das i polt Adialt Al
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21 - Choose to answer (a) or (b) :
what is the effect of heat on:
a- Methane.
b- Octane.

1(22) 91 (1) (e Aglan M1 i - Y
sole 3y padt 350 Le
ol (1)
LS ¥ (@)

22 - Choose to answer (a) or (b) :
All the following compounds are

coloured and paramagnetic except:

FeCl,
Cu(Cl,
ScCl,4
CoCl,

®O06

23 - Write the name of the electrolyte
in the fuel cell, Write the chemical
reaction at the cathode.

+ dowowall Aol s =YY

Doy dagle AN OLS oot pian

FeCl,
Cu(Cl,
ScCl,
CoCl,

OO®OO

(o2 A el El g TSN @l IS - YY
JeLait) Alslae A3LS me (35850 Adls
L3951SH e Gralad!
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24 - Explain: s d - Y €
Hydrochloric acid is used to detect the | 5! hoslarngl! pass pasiuw

sulphite ion and is not used to detect the | < ¥ ““‘“fi:z?‘u“ s B
sulphate ion. Gl oS3 gl (e Cadsy

25 - The product of the reaction of ethyl | Léa¥!Jsost Jelal mzitadgi -Yo
alcohol with concentrated sulphuric acid | *- ie JSse! S8 pae> g
depends on the number of the alcohol . _ dsxshiobale

cA0 LT O s laetly S Sy
molecules.

Explain with chemical reactions.

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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26 - A current of 15 amperes passed for | el 15 454 365 HLG 5 el dic -
50 minutes in a solution of divalent @L‘-’J-‘ﬁdﬁ-"“czﬁm-’ 505
metal cation. The mass of the cathode |2'*2% =" &4 "’"" "'35;2

increased by 9.35 g. Calculate the et ae,m';;? . ' \

atomic mass of the metal.

27 - A compound (A) has molecular + Al pant ) dido (A) LS o - YV

formula
COOCH, @_ COOCH3

Show with chemical equations:

First : The effect of addition NaOH to s A eI O¥ slaal Ly uidg
BUTY NSV qUNE-H [NTE (BRI

Second: The effect of the ammonolysis of
an ester considered an isomer to
compound (A).

(A) sl

14 YoM YoAV Jo¥1 5ol - A | rall Aol Wie
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28 - Choose to answer (a) or (b) : () 91 (1) (e Al M1 T - YA
Write the scientific expression e Jludt melal) pllamaelt oS!
13 )Lt

indicated by the following sentence: =
. . . s (3o Ao ST A8 LAt Lol datadl (1)
(a) Systems in which the.electrlc CNCIZY | |l skl cotelis oy s
from external source is used through a A l
non-spontaneous oxidation-reduction | gt ire u,es 2l Leie gk hetaii ()
reaction. gl AL J1535 19 B Jelas
(b) Systems produce electric energy
through reversible spontaneous

oxidation - reduction reaction.

29 - How to differentiate practically Aaal A3393 ot Lile el S Y4
between silver iodide and silver faaal Olawsdy
phosphate.

YA/ YAV J oW1 59t - das i polt Adialt Al
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30 - Write one use for each : 1030 ST 1ok 1 g Lot it IS ¥+
First: Titanium dioxide 3O ST 5 ¥
: : NRVPR EX (V- FPU WL
Second: Zinc sulphide e LTl S L

31 - Explain : 'y ¥
Nitro compounds are used in the @ Bgudaall 9,0l e SLS p0 pusid

. O pomdiad | de o
manufacture of explosives. e

H

YA/ YAV J oW1 5oddl - das i solt Adialt Ase s
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32 - Ammonia solution its concentration |« 0.1 M oj—S,5 jal &3 Jg toe 1Y

0.1 Mand Kp =4 x 10” The pH value is: ‘53‘—“‘3“(Kb):‘—‘-¢3&3‘5'3!_4;
A e g gt @Bt ol 4x10

11.3 113 @

®O0E
©

33 - Explain : + pwid Y'Y
Iron (III) oxide could be obtained when O e (D) st s N
iron (II) oxalate is heated. D) gt o¥iussi

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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34 - Choose to answer (a) or (b)

Explain a practical experiment to

show: (Write the chemical equation).

(a) The effect of temperature on the rate
of equilibrium reactions.

(b) The effect of concentration on the
rate of reactions.

() 9 (1) oo Aala W s Y8
Y- J Ol Wy WYL FOU-T
z&YAwQ
O e Byl et am s 31 (1)
Jelaid! Juae le juS 01,50 ()

YA/ YAV J oW1 5oddl - das i solt Adialt Ase s
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35 - A sample of soda ash crystals, et | 13 gmiir O 39kt (ot A -Y'0
Na,CO;3.X H,0, its mass is 1.43 g, 1:43 f‘imi "I\}a{CO}; X H‘2O
heated until constant mass of 0.53 g, | ¥ & = ‘ ‘%’;
Calculate the number of moles of water o

. ) A e le O 90 Mo Cruws |
of crystallization. [C=12,0=16,H=1,Na=23]
[C=12,0=16,H=1,Na=23]

36 - Show by chemical equations : +AO LeaSH O s laet Ly g ¥
How to obtain cyclohexane from normal | obse!! o gald| Olusl! e duass s
hexane. fgalal!

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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37 - Choose to answer (a) or (b) : 1(2) 91 (1) He Al M1 i -YV
Show how to obtain industrially: role doliall o8 Juaxd 4.8 sy
(without chemical equations) (Beileas S3alas 28 Ogu)

Ogalatt (1)
.geliuall el ()

(a) Soap
(b) Industrial detergents.

38 - Write the structural formula and I ga¥ ) AL (O LeeuST| @ | CGS) -YA
IUPAC nomenclature of halothane -obgtlell Zalid! Aaually
39 - In the opposite figure : rJa el JSAN 8 -Y4
The (K¢) value is : (Ke) aes
@ Greater than One. - \\ Reactants cax gl Cpe S| @
E Ole e " i
(® Equal one. £ % SCRIPRWE R (@)
g Prod .
(©) Less than one £ Eﬁ“;“_‘f aigipe s (D)
(@ Equal zero. T— asgs ()

20 YoM YoAV Jo¥1 5ol - A | rall Aol Wie
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40 - A galvanic cell, its potential is 0.34 volt,
is formed from copper electrode with
standard hydrogen electrode. If the cell
diagram is:

Pt-H, / 2H" // Cu*" / Cu®
Calculate the oxidation potential of
copper.

ctgd 0.34 Langs aolals ads -¢ -
ctad e ulonil) ilad (o AlgSe
2N OIS 101D L L@ (e 9 gl
198 Lgf (> Mo
+ 2+ o
Pt H,,2H 4, Cu™ /Cu
<ol A;ASBA@?M‘

41 - A cation that gives a white green | gswi Leul)y otaas g0t Hg-GISH - £

precipitate by the addition of sodium
hydroxide to its solution is:

Fe2+
Fe3+
Cu2+

A13+

®O06

S g )b Jglome ABLS| s | juiaine
198 A gloma (1 A g gual!

FeZ+
Fe3+
Cu2+

A13+

O®OO

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead 21
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42 - Complete the table :

rJ gt JaST - Y

Type of alloy Its components
AScewdl g4 ¢ A3gSal! yualiall

Aluminum-Nickel
IS g p gucn 911

interstitial alloy

..

43 - Choose to answer (a) or (b)
Show by chemical equations:
How to obtain :
(a) Aspirine from ethanal
(b) Marookh oil from chloromethane

1(@) 9t (1) oo Al W) puid - Y
28 A0besd) O¥sladlly oy
r ke Juami
JBLOY (e Gy pew ¥ (1)
-Olis 9598 (p0 7o medt 20ty (@)

22 YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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44 - In the opposite figure, a process in

purifying copper metal : I

First : what happens in the
electrode (A).Write the
chemical equation.

Second: what happens to the

impure sliver at the impure

copper electrode.Explain.

Mo AGET Ades gy Jaldall JSAN £ ¢

s ol

¥y

S(A) cdazll Eum f3le

e Guo ) Je Lot AulS 2
Lol

Anall CB1gad Groom 13Le
S|l pulonidl udad (B
i} s

45 - What is meant by the solubility product?
Then, calculate (Kgp) for barium
phosphate solution, Ba,(PO,), , where its
degree of solubility is 1}103 M.

@D SANY Joly Jguadell Le-£0

Olawsd Jotomat (Kgp) cowt

ol Lete Bag(PO,), ps—uylat
C1x1073 M g aara¥ as s

YA/ YAV J oW1 59t - das i polt Adialt Al





